
5 – 2     Causes of the Second World War  p. 124 – 126 
1. Define the following: 

a. Policy of appeasement b. Non-aggression pact 
2. How were the totalitarian leaders of Japan and some European countries imperialistic? 
3. How did France and Britain react to Hitler's occupation of the Rhineland and annexation of Austria? 
4. What was the "Munich Agreement"? 
5. What was the outcome of British Prime Minister Chamberlain's policy of appeasement in 

Czechoslovakia? 
6. Why did Hitler and Stalin sign a non-aggression pact in August 1939? 
7. Why do you think Hitler ignored the British and French demand that he withdraws from Poland? 
8. Why was the League of Nations unable to fulfill its mandate to maintain peace? 
9. How did the League respond to the Japanese invasion of Manchuria in 1931? 
10. What was the response of Japan? 
11. How did the League of Nations respond to the 1935 Italian invasion of Abyssinia? 
12. Copy the map on p. 124 

a. Label & colour the countries of Germany, Poland, Czechoslovakia, Austria, France 
b. Label & colour the Saar, Rhineland, Sudetenland, East Prussia 

 
1. March 1936 – Occupation of the Rhineland 
2. March 1938 – Annexation of Austria 
3. Oct. 1938 – Annexation of the Sudetenland 
4. March 1939 – Occupation of Czechoslovakia 

5. Summer 1939 – Danzig & “Polish Corridor” 
threatened 

6. Sept. 1939 – Invasion of Poland

 


